IPL Part # 751448

Issue A August 1998

Little Buck
(Wallmount)

Part Numbers Natural Gas 5.4kw
7.3kw

LPG 5.4kw

7.3kw

From Serial Number 051860

551448
M1127N
551449
M1127L

Issue A
August 1998
Part # 751448



Little Buck

Masporto (199%6t0 )

Item Part Description Qty | Iltem Part Description Qty
No No No No
1 551417 Rod, Vent 3 12 551411 Knob, Rheostat 1
2 551420 Trim, Brass 4 13 551437 Thermostat, Disc-110° 1
3 551426 Front 1 14 551409 Wire, Thermo Jumper 2
4 551421 Screen, Front 1 15 551403 Relief, Strain 1
5 551423 Shield, Inner 1 16 551433 Cord, Power 1
6 551412 Holder, Log 2 17 551398 Louvre, Door-Brass Cover 3
7 551425 Motor 1 18 551424 Log Set 2
8 551414 Brace, Motor 1 19 551404 Screw, Pan #10 x 1/2" 2
9 551430 Cover, Screen-Motor 1 20 551402 Screw, #10 x 3/4" Hex 2
10 551407 Label, Control Speed-Fan 1 21 551401 Screw, #10 x 1/2" Hex 6
11 551440 Rheostat 1 22 551399 Screw, Drywall 6 x 1 1/2" 2

Bold Text = Assemblies

Bulleted Text = Iltems included in Assemblies

When ordering PLEASE QUOTE PART NUMBER & Description, NOT lllustration No.
Determine right or left hand side from standing inviewing position Page 2



1

IVIasport]

Little Buck
(1996 to

ltem Part Description Qty |ltem Part Description Qty
No No No No
1 551442 Valve, LPG - Maxitrol 1 9 551413 Tubing, Aluminium 1/4" 1
. 551443 Valve, Natural Gas 10 551416 Elbow, 3/8" - 3/8" 1
- Maxitrol 1 11 551410 Adaptor, Compression
2 551408 Nut,Compression 1/4" 1/4" - 1/8" 2
Brass 1 12 551429 Orfiice, Burner #42 NG
3 551418 Holder, Regulator - 7.2kw 1
- Maxitrol 1 . 551450 Orfiice, Burner #54 LPG
4 551431 Bottom, Inner M1127 1 - 7.2kw 1
5 551422 Burner, Single 1 . 551446 Orfiice, Burner #47 NG
6 551434 Thermocouple - Copreci 1 - 5.5kw 1
7 551439 Pilot, ODS LPG - Copreci 1 . 551447 Orfiice, Burner #55 LPG
551438 Pilot, ODS Natural Gas - - 5.5kw 1
Copreci 1 | 13 551415 Supports, Burner M1127 2
8 551436 Regulator, Natrural Gas 14 551419 Tube, Burner 3/8" -8 1/2" 1
- Maxitrol 1 15 551432 Holder, Orfice - Angled 1
551435 Regulator, LPG - Maxitrol 1
Bold Text Assemblies

Bulleted Text Items included in Assemblies

When ordering PLEASE QUOTE PART NUMBER & Description, NOT lllustration No.

Determine right or left hand side from standing inviewing position Page 3



Little Buck

Masporto (199%6t0 ___ )

Part No Description Qty

NOT ILLUSTRATED

551428 Base, Burner - LPG
551427 Base, Burner - Natural Gas
551405 Terminal - Male

551406 Terminal - Female

551423 Shield-Inner

551451 Wire-Ignition - 355mm

PR R R R

When ordering PLEASE QUOTE PART NUMBER & Description, NOT lllustration No.
Determine right or left hand side from standing inviewing position Page 4



